Electricity

*Voltage (V) depends on the distance between charges.
*Current (C) depends on the number of moving charges.

*Resistance (R) depends on how much moving charges are slowed down
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Electricity

*Simple circuit to show how current depends on voltage
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Resistance -- tries to stop current!

Current -- charges flowing through wire

Voltage — separates charges
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*Simple circuit to show how current depends on voltage:
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*Simple circuit to show how current depends on voltage:
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Electricity

*Simple circuit to show how current depends on voltage:

vﬂl ‘-"-'urrtnf
Eti‘!*qf LA BT
# =0 :—
Ilﬂtlf-l" e e Tﬂ;g
400
Table 3 .
Voltage Current 2 oc
S ®
5
O. O. OEDC ®
40. 182. i
e |
80. 254. i
120, 315 F e
A 1 1 1 [ N N T T T N T N N I T T I R
1 UL—J{_ 'il EI'Ll J-'I-I':_l il I 10 140 144

Voltage (V)

electricity — 4
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*Simple circuit to show how current depends on voltage:
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Electricity

*Series circuit of three light bulbs:

*Will bulbs be brighter or dimmer?
*What will happen if we remove

one bulb?

Voltage — Pushes charges (current) through wires

Current — charges flowing through wire
Resistance tries to stop current!
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Electricity

*Parallel circuit of three light bulbs:

Y | *Will bulbs be brighter or dimmer?
' *What will happen if we remove

one bulb?

Voltage — Pushes charges (current) through wires

Current — charges flowing through wire
Resistance tries to stop current!
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Electricity

*Combination circuit of three light bulbs:

y s | SAE *Which bulb will shine the brightest?
H *What will happen if we remove
2(p): bulb A?
C *What will happen if we remove

—-1— bulb C?

Voltage — Pushes charges (current) through wires

Current — charges flowing through wire
Resistance tries to stop current!
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Electricity

*Van De Graaff Generator
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Electricity

*Capacitor Boom Capacit()l'
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Electricity
°LLN2 Jumping Ring
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Electricity

*Summary:

> Voltage (V) depends on the distance between charges.

®> Current (C) depends on the number of moving charges.
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